R "v_2”) Norm on En~VE,

E, voll E, = EnVE, voll

:max(v

~

ENorm: m@" <~ < MT"  equ-rel /E voll () < E voll ()
- < v —w
R*: 1:U:y =T+ 7 equ Ty = max (T:7)

T T stet
E1—>F=> equ | T stetin 0
m T <C™"

1
c' (alb) @ 1+ fﬂ € C (alb) stet in sup-norm beiderseits?

]\/[lR

C, (M:R) = voll VR /sup-Norm

stet /bes
a€M: C (M:R)31 ‘MeRr
c

>0 O\n

n (L:R) N R I
cpt intval I ’ R= /\ /\\/ \/ /\x‘]—zz’?/k <e
1 e n T k

stet/streng mon

Coien
1R _ _
% Banach-Raum/Norm = sép N+ sép “q

C (LR) co R: 1+ “1/ Kemn ¢, = w max Ideal
surj Ring-Hom =0

b'e
R geord Korper R™ = {X q R}: 1<t e /\ N = RY geord/nicht total §X > 1

T

q/q' 1% bes Or—m O
X —— R = < cop—ny 0Or=—®r=n - X 7é pt = 1 < 1 %
bes MT< 1% BX
alb SN R: ™ via max 1/ min
XcY=C(Y) I—Q—> C(X): 11— r]|X Einschr stet funct ist stet : C (R) 9 C (a|b)
in

surj/nicht inj



B(R) > 1, bes/abg?



